ANBT6 Worksheet video 1 Name

PROBLEM 1 PROBLEM 2

Complete the fact family. : Use patterns to divide.

4,000 + 5 =

CHOOSE THE CORRECT ANSWER: CHOOSE THE CORRECT ANSWER:

07 ® 800
©@9 ® 70
© 80
©® 280

L---------------------------

PROBLEM 3 PROBLEM 4
Divide. . Divide. Interpret the remainder.

A chef is adding chili peppers to a spicy

noodle dish. The recipe calls for 6 chili

peppers in each dish. If he has 76 chili

peppers, how many will be left over after
making as many complete spicy dishes as

possible?

CHOOSE THE CORRECT ANSWER: CHOOSE THE CORRECT ANSWER:

© 1,009 R2
1,008 R2
© 1,010 R2
© 1,011 R2

® 3 chili peppers
4 chili peppers
© 5 chili peppers
® 12 chili peppers




